ALUMINUM HOUSING

SAMPLING STATION
(SEE NOTE 6)

COPPER VENT TUBE
W/ 1/4" PET COCK
OR 1/4” BALL VALVE

INSTALL VALVE BOX

PER DETAIL C-3.1.4 ALUMINUM

BASE

L
FINISH GRADE
g 1" GALV STEEL
% EXTERIOR CASING
N TRACER WIRE ~ % ExTE
ﬁ - E— r
\ MAINT. POSITIVE SLOPE \
3/4" ELBOW
INSTALL SERVICE INSTALL FORD (PE x FPT)
PER DETAIL C-3.2.1 B66—333—NL
BALL VALVE NOTCH RISER
MAIN » » AROUND PIPE
12"°x 12" CONCRETE

SUPPORT BLOCK

NOTES:

SAMPLING STATIONS SHALL HAVE A 3/4” FIP INLET AND UNTHREADED NOZZLE.

2. ALL STATIONS SHALL BE ENCLOSED IN A LOCKABLE, NONREMOVABLE, ALUMINUM CAST HOUSING.

3. WHEN OPENED THE STATION SHALL NOT REQUIRE A KEY FOR OPERATION, AND WATER WILL FLOW IN AN ALL BRASS
WATERWAY.

4,  ALL WORKING PARTS SHALL BE BRASS AND REMOVABLE FROM ABOVE GROUND WITH NO DIGGING. EXTERIOR PIPING SHALL
BE BRASS OR GALVANIZED STEEL.

5. A COPPER VENT TUBE WILL ENABLE EACH STATION TO BE PUMPED FREE OF STANDING WATER TO PREVENT FREEZING AND
MINIMIZE BACTERIA GROWTH.

6.  SAMPLING STATIONS SHALL BE KUPFERLE FOUNDRY CO. ECLIPSE #88 OR APPROVED EQUAL.

NO. | REVISION DATE | STANDARD DETAIL FOR PUBLIC WORKS CONSTRUCTION | SECTION

CARSON CITY

WATER SAMPLING DRAWNG No.

c-3.1.15  (203)

STATION DATE

APPROVED BY: T [1/20 JAN 2020



AutoCAD SHX Text
STANDARD DETAIL FOR PUBLIC WORKS CONSTRUCTION

AutoCAD SHX Text
NO.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
WATER SAMPLING

AutoCAD SHX Text
DATE

AutoCAD SHX Text
C-3.1.15

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
CARSON CITY

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
%%uNOTES:

AutoCAD SHX Text
STATION

AutoCAD SHX Text
(203)

AutoCAD SHX Text
1.	 	SAMPLING STATIONS SHALL HAVE A 3/4" FIP INLET AND UNTHREADED NOZZLE.  	SAMPLING STATIONS SHALL HAVE A 3/4" FIP INLET AND UNTHREADED NOZZLE. SAMPLING STATIONS SHALL HAVE A 3/4" FIP INLET AND UNTHREADED NOZZLE. 2.	 	ALL STATIONS SHALL BE ENCLOSED IN A LOCKABLE, NONREMOVABLE, ALUMINUM CAST HOUSING.  	ALL STATIONS SHALL BE ENCLOSED IN A LOCKABLE, NONREMOVABLE, ALUMINUM CAST HOUSING. ALL STATIONS SHALL BE ENCLOSED IN A LOCKABLE, NONREMOVABLE, ALUMINUM CAST HOUSING. 3.	 	WHEN OPENED THE STATION SHALL NOT REQUIRE A KEY FOR OPERATION, AND WATER WILL FLOW IN AN ALL BRASS    	WHEN OPENED THE STATION SHALL NOT REQUIRE A KEY FOR OPERATION, AND WATER WILL FLOW IN AN ALL BRASS   WHEN OPENED THE STATION SHALL NOT REQUIRE A KEY FOR OPERATION, AND WATER WILL FLOW IN AN ALL BRASS    	WATERWAY. WATERWAY. 4.	 	ALL WORKING PARTS SHALL BE BRASS AND REMOVABLE FROM ABOVE GROUND WITH NO DIGGING. EXTERIOR PIPING SHALL   	ALL WORKING PARTS SHALL BE BRASS AND REMOVABLE FROM ABOVE GROUND WITH NO DIGGING. EXTERIOR PIPING SHALL  ALL WORKING PARTS SHALL BE BRASS AND REMOVABLE FROM ABOVE GROUND WITH NO DIGGING. EXTERIOR PIPING SHALL   	BE BRASS OR GALVANIZED STEEL.  BE BRASS OR GALVANIZED STEEL.  5.	 	A COPPER VENT TUBE WILL ENABLE EACH STATION TO BE PUMPED FREE OF STANDING WATER TO PREVENT FREEZING AND   	A COPPER VENT TUBE WILL ENABLE EACH STATION TO BE PUMPED FREE OF STANDING WATER TO PREVENT FREEZING AND  A COPPER VENT TUBE WILL ENABLE EACH STATION TO BE PUMPED FREE OF STANDING WATER TO PREVENT FREEZING AND   	MINIMIZE BACTERIA GROWTH. MINIMIZE BACTERIA GROWTH. 6.	 	SAMPLING STATIONS SHALL BE KUPFERLE FOUNDRY CO. ECLIPSE #88 OR APPROVED EQUAL. 	SAMPLING STATIONS SHALL BE KUPFERLE FOUNDRY CO. ECLIPSE #88 OR APPROVED EQUAL.SAMPLING STATIONS SHALL BE KUPFERLE FOUNDRY CO. ECLIPSE #88 OR APPROVED EQUAL.

AutoCAD SHX Text
JAN 2020

AutoCAD SHX Text
1/20

AutoCAD SHX Text
APPROVED BY:

AutoCAD SHX Text
24" MIN.

AutoCAD SHX Text
MAIN

AutoCAD SHX Text
CLEAR

AutoCAD SHX Text
30" MIN.

AutoCAD SHX Text
COVER

AutoCAD SHX Text
INSTALL SERVICE  PER DETAIL C-3.2.1

AutoCAD SHX Text
MAINT. POSITIVE SLOPE

AutoCAD SHX Text
TRACER WIRE

AutoCAD SHX Text
INSTALL FORD  B66-333-NL BALL VALVE

AutoCAD SHX Text
INSTALL VALVE BOX  PER DETAIL C-3.1.4

AutoCAD SHX Text
NOTCH RISER AROUND PIPE

AutoCAD SHX Text
3/4" ELBOW (PE x FPT)

AutoCAD SHX Text
ALUMINUM HOUSING

AutoCAD SHX Text
SAMPLING STATION (SEE NOTE 6)

AutoCAD SHX Text
1" GALV STEEL EXTERIOR CASING  PIPE

AutoCAD SHX Text
COPPER VENT TUBE W/ 1/4" PET COCK OR 1/4" BALL VALVE

AutoCAD SHX Text
ALUMINUM BASE

AutoCAD SHX Text
CORP STOP

AutoCAD SHX Text
FINISH GRADE

AutoCAD SHX Text
12"x 12" CONCRETE  SUPPORT BLOCK


